AT I

1=
)

System
Products

EXHA

Industrial

BEAAAN (A=F) A57—2/ T—=TIYL X T70X70

Motorized Swivel (Tilt) Stages / Table Size 70X 70

RERA
Experi-
mental

FEEE
AF=
Manual
Stage

SAO07A-RTO2 SAO7A-RBO2
SA07A-RM02 SAO07A-RS02 SAO07A-RLO2

=l KEERDIART B—r—TIOREF. RYPERBVET, £MIFFRIF40mMmERYET.

Rotation
o SAO07A-RTO2 *The length of the connector cable in the image is different from the actual one. The bending radius is 40mm.
CW Limit Sensor @ 5H8 Depth 5mm
2ANJL Home Position 4-M3 Depth 6mm
(a==) CCW Limit Sensor 4-M3 Depth 6mm

Swivel 4-M4 Depth 5mm

(Tilt)

BEES

25—
Motorized |

Stage e L | e T

- . ] ] i Tt

X-XY +, | ‘

] | [T = L

g '

Depth 4mm ®4H8 Depth 4mm
4.5,

40

= =B
10 Py Back Side

= ; { 200;
=,

B

(85.5)

70
6
4
30

20,

(0.5)|

1o | lw

o|oo|o
I~
=
S
>

7 (16) (96.5)

(182.5) @ SA07A-RMO2 @ SA07A-RB02

[Ol%5 Rotation Center )
Rotation Rotation Center Rotation Center

70

CW

\s

Q

=

@
96

(o]

Q

=

& CwW
~ —

%:I"(_ 71}‘I)I {0 o= @] ~— & cw ccw

- 1 i B | ot

Swivel sl diin] o — L
(Tilt) g © lﬂﬁm @}" EKgnzZU ©
FSA 4-for M4 screws, [J60 il ) S|
XU Shaft length 4mm -
2= 4-for M4 screws [ 160 -
XYe Shaft length 4mm IS
Bz @ SA07A-RS02 4-for M4 screws 160 g
;Zj—-—y“ Shaft length 4mm =~

122

26

(8.5,

Vacuum
Stage

T fl

Control
Electron- H ¢ 5H8 Depth 5mm

o b 4-M3 Depth 6mm £

4-M3 Depth 6mm
T—5— | ] 4-M4 Depth 5mm [
avhk0-5

Motor
Controller
RS54\
Ry IR
Driver
Box

(96.5)

=\
Back Side

Depth 4mm |

(182.5)

=38
@

4

k
I

:
’
¥

40
ITE>

70

[gas]]

60

40

30
rterei s

B

=s
Al
=

<] |

(O

o
S — iy —

nga v = = $4H8 Depth 4mm
Applica-

tion 50
EF—g— (16) 70 (96.5)
RSN (182.5) @ SA07A-RLO2
Motor |

.
al

(16),
w
S

N
S

el i \\Rotation Center |
== : | \Rotation Center

70

T—=2
Motor
Cable

8%
Appendix

|
|
cw } ccw

96

26, .26

(64.5)
26

(68.65)

7t
HU— 4-for M4 screws, [160

R Shaft length 4mm
ries 4-for M4 screws ‘ [le0 ‘

Shaft length 4mm

26

(85)

(9.15)

RE
VAT I
Inspection
System

K-016 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



TV /[ 90AQ=FH4 K/ )4 =L&T#=Lbk{ =l .--.

Worm Wheel

Aluminum Body / Cross-Roller Guide / Worm and

X

M SAQO7A-RT02 SAO7A-RM02 SAQO7A-RB02 SAQO7A-RS02 1 SAO7A-RLO2 2
odel Number
BFEOEKX
Mirror Model Number %3 SAQO7A-RTO2-R SAO7A-RMO2-R SAO7A-RBO2-R SA07A-RS02-RRR SAO07A-RLO2-RRR
F—7I)VE
Table Size OGOl
EHAHR #BEI/OZAO—FH/R
Guide Mechanism Cross-Roller Guide
Bk | o ° o o o
e —— +10 +8 +10 +10°(RM02), £8°(RB02)
EYFHR IA—L&TA—LRA—I
Lead Mechanism Worm & Worm Wheel
BOREE 235(RT02) 300(RM02)
Reduction Ratio e S0 e 300(RM02) 375(RBO2)
TIIIN=T AFTVT 5 . . . . . 10.00153°/0.000766°(RT02), | 0.0012°/0.0006° (RM02),
AWHE | Ful/Harrsiep | 0001587/00007667 |  0.0012/00006° | 0.00096/0.00048" | 012/0,0006'(hi02) | 0.00096'/0.00048"(REO2)
Resolution = | Y(/AATY7 (1/20%8)) . . . 0.0000766° (RT02), 0.00006° (RM02),
Micro Step (1/20 div) 0.0000766 0.00006 Dl 0.00006°(RM02) | 0.000048° (RB02)
IR o o o 7.65°/sec(RT02), 6°/sec (RM02),
Maximum Speed [ Pisae SlEiEe 6°/sec (RM02) 4.8/sec (RBO2)
PTG 70mm+0.2mm 96mm=0.2mm 122mm=0.2mm 70mm-£0.4mm 96mm=0.4mm
Work Distance
R |§|§5¢:u§1jg $0.05mm/£10° $0.05mm/£8° ®0.1mm/£10° ®0.1mm/£8°
otation Center Error
ﬁ’ﬁ‘g&i’;ﬁfg <$0.001° (AVE. 0.0001°) | S£0.001°(AVE. £0.0001°) | S£0.001° (AVE. £0.0001°) <+0.001° <+0.001°
Dé';;EM_oiiy =0.003°(AVE. 0.0007°) | =0.003°(AVE. 0.0006°) | =0.003°(AVE. 0.0004°) =0.003° =0.003°
4 \‘;azz; :h/l =<0.001°(AVE. 0.0001°) | =0.001°(AVE. 0.0001°) | =0.001° (AVE. 0.0001°) =0.001° =0.001°
E-XPEIME 0.09 arcsec/N-cm 0.09 arcsec/N-cm 0.09 arcsec/N-cm . .
Moment Load Siiffness (AVE. 0.045 arcsec/N-cm) | (AVE. 0.046 arcsec/Ncm) | (AVE. 0,045 arcsec/N-cm) | O-28 aresec/N-em | 0.28 arcsec/N-om
IKF TR
Load Capacity (Horizontal) 49N (5kg 39.2N (4kef)
LuN= TIIEE
Material Aluminum Alloy
S8 BHe&ft b
Finish Clear-Matt Anodizing
BE
Weight 0.95kg 1.9kg
SHATYEY TE—R— PK544PMB (A I &I E—&—: EHREFR 0.75A/H,EXZTYT7H 0.36°, U—NRE5K)
5 Phase Stepper Motor PK544PMB (Oriental Motor: Phase Current 0.75A, Basic Step Angle 0.36°, 5-Leads)
T2 d5mm A7 3> /\URIL: A type
Motor Shaft Diameter d5mm Conformance option handle: A type
JRIR 20> (EO+: RP13A-12JG-20PC)
Connector 20Pin Round (Hirose: RP13A-12JG-20PC)
AT —IEREAT .
Stage Wiring Type X0 V3
T ERBR F-116(HOME,LIMIT), B§Fi&L . F-116R(HOME,LIMIT)
Sensor Model F-116(HOME,LIMIT), Mirror Model: F-116R(HOME,LIMIT)
JV)—=> 5" AR
Clean Room Lubricant Model Number SAO7A-RT02-C SAO7A-RM02-C SAO7A-RB02-C SA07A-RS02-C SA07A-RLO2-C
v ﬁgﬁ.u;(ﬁ:ﬁ&ﬁ SAQ7A-RT02-V SAO07A-RM02-V SA07A-RB0O2-V SA07A-RS02-V SA07A-RLO2-V
'acuum Lubricant Model Number

SAQ7A-RS02id. SAO7TA-RTO2&SAO7A-RMO20D#AELETT .
Combination of SAO7A-RTO2 and SAO7A-RMO2 form 2-axes swivel stage model
SAO7A-RS02.

SAOQ7A-RLO2(&. SAO7A-RM02&£SA07A-RBO2D#AEHETTY
Combination of SAO7A-RMO02 and SAO7A-RBO2 form 2-axes swivel stage model
SAO7A-RLO2.

%3 BFEV. BEROMEBFICOVTIIK-006R—=2 BB LTTE,

) Refer to page K-005 for Information on Standard and Mirror Symmetry
Configuration.

1

w2

o F=N—FR—VBICHBBRREEENELA. FHBICOVWTIIEAN—U2BEBL
TTFELN,
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information.

o I =20V AMROBKXBKRREIC -C" ARHEET. FHAICDLTIZC-005N—2
EBRLTTE0.
Clean room lubricant model has “-C” at the end of model number. Page C-005 for
further information.

OE§7 ) ZHROBRIEKRRIC -V PEEET. FRICONTEC-005K—Y %2
BLTTEL.
Vacuum lubricant model has “-V” at the end of model number. Page C-005 for
further information.
E— R —HROFHBIC DN TIFC-004N—2 BB LTI EL,
Page C-004 for further information about motor change.

sq AT —VORERN-TATY TTHO>THYVET.
Stage is inspected by half step setting.
55 AT NUAF—IBHEOE—X> NIEHIO— LB E RV ET,
Moment Stiffness of single swivel stage is measured in Roll Direction.
AT — IAERDFMIC DV TIEN-026~N-027 BB L TTFEL,

*6 Refer to page N-026~N-027 for stage wiring connection information.

WETBE—Z—IY hO—F « RTANTDVWTIEN-002X—2ZBR L TTFEL,
Refer to page N-002 for information on corresponding motor controller and driver.
METBE—R—T—TIIDVTIEN-014~N-016X—=U% B8R L TFEL,
Refer to page N-014~N-015 for information on corresponding motor cable.
o PEROCBRZICKVEROYEL AN ETY, FURERNRETHHVADET I,
We appreciate the product customizing. Contact us for further information.
o 7Y VICDWTIEO-001X=2 & BB L TTEL,
Refer to page 0-001 for information on accessory.
F7 3N\ RILEO-008X—J BB LTTFX,
Refer to page 0-008 for information on Option Handle.
o 2HATYEYTE—R—EHREEVET.

2 phase stepper motor is available.

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

AT L
R

System
Products

EXR

Industrial

RERA
Experi-
mental

X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

S
25—

Motorized
Stage
X-XY
XeXY

[ElEA

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

K-017



